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A

1. ‘ For a fibre, when the moisture regaln increases, the thermal eondqctivity.
M jiincr.eases . .
(B) . (lecreases ' 4
(C)  1initially increases and then decreases

(D). initially decreases and then increases

2. .The effect of second order transitiOn temperature‘ in polyester fibre in
M reduction in birefringence - (B) increaseé in birefringernice
(S)) increase in absorption of Watexj' D) -increase in stiffness

3. ‘The melting point of polyestex; is
- higher than acetate o
(B) lower than polyethylene
©) - 'h1gher than polyethylene but lower than nylon

)] g higher th‘an wool and lower than viscose rayon'

4. - Among the followmg ﬁbre which one is having serrated cross section?
(A) cotton : S ‘ (B) silk .
M . viscose - ' - D) kapok
5. The major part of the cotton fibre is covered by
(A) Prlmary wall. - . S . B S3 ‘layer only
WP Secondarycellwall - (D) Lumen
" 6. A fibre Whlch is soluble in acetlc acid in 2 mmutes at boiling pomt in-
A cotton : o ' . (B) silk -
(0 wool . - - \M' acetate
P I o 3 -~ . . CETET/18
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, "-7 .~ The first successful 'synfluetic f-_ibre' is
‘ ‘(A) polyester - ‘4{ nylon“

(C)  acrylic ()] polypropylelne

2 .

8. ° Refractive index is the ratio of velocity of light in - to the velocity of light
' © in ~ ' C l ‘ . :
'(A)  material and vacuum , yacuum and material
© ‘atmospheric space to material =~ D) material to atmospheric space
Ia . -
9. Triacetate has negatwe birefringence Value because of

(Ay 1sotrop1c arrangement of polymerchains '
. M ' bulks acetate groups
(C)  anisotropic arrangement of polymerchains

" (D) thin acetate groups - o o '

o 10. ’ _B1refr1ngence Values of Poly Ethylene Teraphthalate (PET) ﬁbre is

(&) - 0.0188 & 0.188
. (Cy 188 o D) 188 -
11. = For showing dichreiem, which one of the following condition is to be satisfied?

M the dye molecule must be asymmetrical . -
"(B). the dye molecule must be'synimetrical

(C)  the dye molecule slleuld not absorbed By the fibre .

(D) . 'tl_le orientation of chain molecules shbuld be poor B e !
12. Among the followmg, Wl’llCh fibre is having negatwe bu'efrmgence value?

(A) Ramie M Tr1acetate

©) Poljrester ' ‘ Co - (D) Polyethylene '

CETET/18 | o 4 I P



13. The decomposition temperature of viscose 1s
\M higher than cotton ’
.(B) - lower than cottonn
©) lov-ver than cotton but higher than wool
(D)  higher than cotton but lower than wool

14. = The static change on card sliver aftet leriding }-s measured by
(A)  Shirley moisture meter . B) Tog meter
M - Faraday cylinder -7 (D) Galvanometer‘

-

15. The electrical resistance of protein fibres are } N
(A)  lower than cellulosic fibres - \Mhigher than cellulosic fibres
- (©) equal to cellulosic fibres . (D) equal to synthetic fibres

16.  Ratio of dry strength to wet strength of viscose rayon fibre is

@ 05 . N

© 4 S (D) 0.25
17. Bendir'lg‘ and bﬁrsting of fibre inﬂuenc.esv . - properties of fébricé.
W Drape and Handle . ® Frictional
(G  Electrical : o - .(D) ‘ Optical

'18. 27 mm fibre was extended to 30 mm and upon relaxation it reached to 27.2 mm. Its elastic

recovery % is

@ o6 - - . . (B 666 . ‘.
: \gﬁ 93.3 o . (D) 9.33
’ CETET/18
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19. . Theripeners of viscose solution is measured by

N Seltindex " (B) Xanthation ratio
(C)  Birefergence (D) Sonic modulus
20 _ . Line of breaking force across the fibre would be long for - polymer molecules.
(A) randomly alignéd long » " (B) perfectly aligned short -

w ‘perfectly aligned long - . (D) randomly aligned linear

21.  Which one of the following is not a fibre forming polymer?

\M A tactic polypropylene , ®B) Tsotactic polypropylene
- (C)  Syndeotactic polypropylene - ) 'Polyethylene terephthalate
22  One way mass transfer of solvent occurs in
W dry spinning : (B) wet spinning
(S ciry-jet wet spinning . (D) melt spinning

23.  The humidity has a -significant influence on drawing of one of these synthetic fibres. The

fibre is ' . . ,
& Nylné6 @ . ®) PET L
() Pblypropylene o u (D) - Polyethylene . t

24.  The crimpé are introduced in PET, staple fibre by
" stuffer box texturising (B) edge crimping

(C) false twist texturising . (D) chemo texturising

25. - The fibre which is very difficult to texture by false twist texturising is
(A) polyester 4 -+ (B) nylon6
(© nylon 66 ‘ ’ NI polypropylene
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26.. The high drips in melt spinning occurs due to
: ). - : . .
low quench air velocity A (B) improper sand size

(C) die swell o . -(D) draw resonance

27, . The rapid quenching of nylon 6 from molten state resﬁlts in

A  a form < . @B B form
' (C) y form - ° - ' | Mpseudo hexagonal form
28. A . fibre uﬁdergoes cyclization reaction before reaching its melting poini:.‘
w Acrylic ' S (B) Polyurethane

(C) Polylacticacid =~ (D) Cotton

29. ° The beét feeder yarn for good crimpability and refracﬁvity in false twist texturising is
@ LoY I @ pOoy .
(© FDY . (D) HDY

+30. . The cross-section of spinneret useci for producing hollow fibre is
@ C-shaped : (B) Rectangular
‘ W Annular concentric - * (D) Triangular

31.  Identify the fibre with negative giéss transition temperature

W polyethylene . . -(B) nylon6
© poily'estér. - : ‘ (D) poly acrylonitrile
32. . The Diethyleng glycol formation 1s maﬁﬁﬁm during — - stage in PET synthesis.
\Q{ poly condensation . (B) trans esterification '
(C) monomer synthesis , T (D) granule forimation.
o R ' A : CETET/18
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33. In which spmmng system, tw1st1ng of fibres in yarn maklng process taken place from the
1n81de outwards?

(A) Ring spinning \M Rotor spinning

(C) Wrap spinning e (D) Airjet 'spinning

34. Which part of the ring spmmng machine imparts twist to the yarn?

(A) spindle . M traveller -
(C) lappet thread guide ' : (D) ring rail

35. Bolster is a part of _
M spindle in ring frame ' (B) flyer in roving frame

- (C)  creelin ring frame ’ (D) drafting system in ring frame

36. For a strongly twisted roving, what is the range of break draft into be glven in the ring
spmnmg process? - | -

@ 1114 (B) 1.14-1.25

1315 S D) 1.4-2.0

37.  The range of break draft given in. rovmg process is

@A) 05-07 \a{ 1.05-1.15

© 510 : | D) 100-150

. ' » )
'38.  What is the range of over all draft of a comber drafting system?

@ 25 - EERY, gl T3

© 25-35 I (D) 40 and above

CETET/18 o 8 o,



39.

40.

41.

42.

43.

44.

The condition for lénding disposition is

A v < v,, Uy must be in the opp. direction of v,

W v, > Uy, U, must be in the 6pp. direction of v,
.(C) C v, =, v, must.be in the opp. direction of v,
(D) independent with v; and v, -

where v, = flats/doffer, v, =cyliﬁdei;

E Calculate the dtex value for cotton fibre of fineness value of 4.
() dtex=4/0.394 ‘ @)‘ dtex = 4 x 0.394

(C) " dtex=4x(0.394)2 (D) dtex = 4/(0.394)?

N .

knotter is depends on

h (A) speed of the machiﬁe . : \({ count 6f the yarn

(C)  strength of the yarn - (D) skill of the operator -

Tn case of automatic winding machme theoretically maximum number of spindles per

In case of tappet sheddmg looms, which of the followmg type of heald movement is preferred

for high speed looms
(A)  parabolic and &mple,harmonic . B) parabdlic and cyclodial
W polynomial and cyclodial

‘The increase in sley eccentricity value in s_huttle: loom
A) increases the shuttle speed

\M increases the cost of the loom
© <‘decreaées the width of the loom

(D) decreases the ﬁbratign in the loom

Climax dobby is : ‘ dobby.
(A)  single lift single jack ‘
(C) - single lift double jack

(B) double lift single jack

9

W’ double lift double jack

.- (D) polynomial and simple harmonic

s
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'. 45.

- 48.

- 47.

48.

49.

50.

In multlphase weaving machine warp sheet is formed by

- (A) Heald shaft o ‘ M Rotating weaving rotor
(C) Tappet | . (D) Jacquard
In a random w1nd1ng machme, tensmn devxce is positioned ' the yern clearer.
(A) above - o (B) . after
M before o o A () below
* Ratio of length of yarn in the winding and binding layers in a plrn

\@f>1 S ®) <1

© . 1 . ™) 05

When size concentration is 40% wet pickup 60% warp sheet oven dry mass of 450 kg passed
through size box, determine the size add-on.

@ oz e

© 18 . D 30

* A fabric woven from a shuttle less loom with 70 plcks/mm The loom runs at a speed of
400 picks/min with 87% loom efficiency.. The .product of fabric in length (meter) per shift of
8 hours is

@) 666 . - \({60.6 .

© - 303 | . D) 32.3

- The propelling force in the weft carrying system in airjet is enacted by

-

" (A) airjets kept at both the ends S ’
M multiple airjets kept along the pathway of weft

(S ) a1r-propuls1on at one end and air suctlon at other ends

(D)  air propulsion and air suction at both the ends

'CETETN8 - - | 10 IR p



51. .

52.

53.

54. |

- 55.

The wheatstone brldge network of stram gauges in the load cell is exmted from an osc111ator

at a frequency of ‘
G 37508 o . (B 30008 | .
€ 275018 - _ (D) 325C/8 | -
- The minimum number of tests and length of test specimen (1n) for Grey yarn (single) spun
from long bast flbres is - —_— ~— and
() 20and10 . (B) 20and5.
c g 50and10 . | (D) 50 and1
Specific surface of a fibre is - C ‘ .
- . »
2 ) . : 4
- (A 2 o =
@ d . , - d d
» rd : " L4
C za : . D —
CHE D -
In — type of saniple évery individual in the pqpﬁlation has an-equal chance
of being included in it ' , , '
A) Biased‘sampl'e o ‘ \J Random sample
- (C) . Squaring technique. A o . (D) Zoning technique
" In the context of Kawabata evaluatlon system, match the fabrlc propertles from Group I

“with the units from Group II

Group I ST - - Group II
- (a) = Tensile energy . 1. gt. crrf/cm'
(b) . Llneanty of load. elon’gation curve 2. - Percentage
(¢) © Bending rigidity - ' “ 8.+ gt cm/em®
C)) Cbmpféssional resilience - 4. ‘Dimenéionless
@ ® © @
@A) 1 4 3 2
3 4 1 2
() 4 1 3
D) 8- 1 4 2
S ¥ Lo 'CETE’I“/lS
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56.

57.

58.

" B9.

60.

61.

In the fast system, the fabric formability ie determined by the product of fabric
Bending rigidity and extension ‘ '
(B) ._i Bending rigidity and thickness
(C) Bending rigip:l"ity and Weighf ‘
(D) . Bending rig_idity and cover factor

Which of the following fabric strength property is analysed by bursting strength tester?
(A)  Terry fabric . (B) Carpet fabric

@ Filter fabric - (@) silk fabric

The fabric.test length in case of strip test is
(A) . 6inches - o M 8 inches
(C) - 10inches ‘ _ (D) 12inches

In Wluch of the following tensﬂe testing equlpment the error percentage due to friction is
completely eliminated? ‘

@A) Tester working under inclined plane pr1n01p1e

(B)  Tester working under spring principle ~

(C) Tester working under balance principle

} W Tester working under strain gauge principle

Which of the following tensile testing equipment works under pendulum lever principle?
\M Stelometer . _ (B) Pressley strength tester

(©) Cambrldge extensometer : (D) Instron tensile tester

~

What is the twist factor of 64 tex yarn having 32 turns per meter?

G | | . ® 26

©) 98 . P 256
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62.

- 63.

64.

65.

66.

67.

Transfer printing of polyester belengs to

(A)  Resist style BRI 0 ® Discharge style
- (0)  Colour. discharge ‘s‘tyle ) B M Direct style

AN

Continuous dyeing machine

"~ (A) Jigger machine - o | ‘ N (B) . Soft flow machine

(C) Winch maehiﬁe S M ‘Paddihg mangle, machine

Poor rubbing fastness is associated with cotton and — ‘ dye combinations.

(A) Dixjecf _ : o "(B) Reactive : ,‘ - ' .
M Vat ‘ ~ : \ ' ' (D) Bifunctional "

The'efficieney of merCerisation is deterrﬂined by
(A) : Methylene Dblue number " . (B) Copper _numbeil'
(C) Iodinetest | , - » o | M Barium activity number

The neutral-isation“of fabric using acid after bleaching is called
(A)" Scouring ’ . \M Souring
(C) Antichlor R () Reduction clear

; The dye which is water insollible is

(A)  Direct 'dye , - (B) Reactive dye

© Acddye - C (g Vatdye

13 : .. CETET/18
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68. ~ ‘Condensed phase’ mechanism of flame retardancy is achleved with
\M Phosphorous containing flame retardants
- (B) © Aluminium trihydrate and calcium carbonate based f111ers
(C) ‘Boric acid based salts '
(D)  Halogen based flame retardants

69. . An undyed fabric finished Wlth cationic softener shows yellowmg effect. It is due to
M Ox1dat10n of the softener
"(B) . Volatility of the softener
: (b) Poor eclulsion stability
(D) = Thermo migration of dyes -

70. © A severe tendering and d1s1ntegrat1on of fabrlc occurred after sodium hypochlorlte bleachmg
This may be due to ‘

\M traces of i iron and copper present in cotton
(B) action of stabilizer-
o ‘(C)' action of bﬁffer
(D) action of salts -

71.  The bioscouring of cotton can be carrled out mostly by

\M Alkaline pectinase
@B " Acidic cellulase-
o . (C)- - Neutral cellulacc

D) . 4Amylas:e~

72. - -Among the following bleaching agents, bleaching of cotton is carried out in acidic condition

for A .
(A) . Calcium hypochlonte . - A - (B)_ Sodium hypochlorite
\M Sodium chlonte A o (D) Hydrogen percxidc«

“CETET/18 _‘ PR VR o



73. - Which of the fo]lowmg relatlon is used to calculated the tightness factor value of Weft knit
. fabric?. .

(A)  loop lengthin cm/«l'te
- (B) loop length i in cm/tex

M Vtex/ loop length in cm-

(D) tex/ loop length in cm

74. - Invisible fleecy fabricis a — fabric.

\M . Single jersey - C (B) Double jersey =

(C)  Flatknit (D) Warp knit

75. The purpose of ‘splice mark’ on the spreadmg table is
‘(A) to regulate the thickness of the lay '
(B) - to regulate the width of the fabric
(C)‘ to indicate the faults in the fabric
- W to-indicate the joining point of the fabrics

7 6.  Notcher is one of the C , : :
'(A)  Pattern making tool - . o (B) Lay cuttmg tool
M Marking tool - ' ' (D) Fabric spreadlng tool

77. Which of the followmg stitch class is used for ‘balstmg operat10n‘7

() lock st1tch o \@” chain stitch
(C) . multi thread chain stitth- -~ - (D) over edge chain stitch
78. ‘ ‘Over-lock We1t1ng type of over edge chain stltch is formed by the combmatlon of

w " one needle and oneé looper thread
(B) | one needle ‘and two looper thread
(C) . two needle and one loeper thread
- (D) ‘two needle and two looper thread
p 1 . .- - 'CETET/]S
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79. Which of the following is not thé part of line planning process?
' (A)~ Evaluating rhe,rchandise mix 4 ' :
B) 'Planning merchan-disé budget
% Determining the styles in the line
[€D)) ‘Analysing and cydating mgrcha}ndising plan A

© 80. It is used to get fancy effects by using coloured yarns

. Tuck stitch ' (B) TFloat stitch
(C) Purlstitch (D) Knit stitch
81.  Analyzing technical design of an 'apparel is one of fhe activities of
(A) ' Line planning S ‘ \M Line development

(C) Line presentation . (D) Line loading

82.  Perceptual mapping is a diagrammatic technique used by asset markets that attempt to -

‘ visually display the perceptions of customers.
- (A) Need - \M Potential
(C) Selecting o D). Varying
83. 4 Tempoi'ary silicone finishing of fabric is'important for

(A Pedalling ‘type sewing machine
(B) Motor driven low speed sewing machine
4 M Motor driven high speed sewing machine
D) “ Pedalliné type high speed sewing machine o .

-

‘84.  Single thread chain stitch belongs to class™ . -
N 100 | ® 200
(C) 300- ’ . (D) 400

CETET/1S . SR T I | o,



85.

86.

7.

88.

'89.

Nonwoven web from' cotton fibres can be plefelably formed by ' — — bonding
methods .

: (A) Thermal and mechamcal
W Mechamcal and chemlcal
(C)  Thermal and chemical

(D)  Mechanical and Interlacement

90 complete to and.-fro strokes over 40 1nch Wldth is made by a.cross — lapper in one mmute
while the dehvery lattice speed is maintained at Tm/min. If the hank of the feed’ lap is
0.0013 Ne and the actual draft of the cross-lapper cardmg machine is 103, then the g/m? of

the non woven Web formed is

Mlm I ( MR EE

© 124 L | (D) . 184

The major limitation of poly chloropene binders
M Crysta]hsatlon there by i 1ncreasmg the stlffness
:(B) " Not, res1stant to acids '
' (C) Undergo. dlscoloratmn

(D) Poor weather resistant

- The most preferred polymer to be deployed for extrusmn coatmg of nonwovens w1th water

res1sta:nt barrier and heat sealing propertles is .
W LDPE - ~ (B) HOPE
(C) HMWPE ‘ - D) PP .

For wipes, the preferred bonding is o .
A) needle punching C \M spray bonding
(C) bulk calendering: C - (D) lamination

o . CETET/1S
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90. The mechanism by Wthh particles are captured through attachment to the fnbes within the
. body of filter medium due to electrostatic forces is K

(A) . screening - W depth filtration
(C)  cake filtration (D) sieve filtration
91.  In case of basal embankment, the major factor to be considered is
W stress relaxatlon ) ' (B) fatigue
‘ © mechanlcal cond1t10n1ng , - D) creep
©92. - 990 in case of testing of Geotextiles relate to .
w holes in textile substrate (B) diameter of particles
(©) ‘ velomty of air used for testlng ' (D) penetration efficiency
93.  Hot gas filtration of around 1000°C can be carried out using fibres.
- (A)  Polypropylene. ‘ ' , (B) "Polyethylene '
W Ceramic - = - . . (D) Polyester

94, On impact, the full deployment of air bag takes

% 55 mﬂhseconds o (B) 55 seconds

© 0.5 mllhseconds . (D) 5 milliseconds
95. One of the most popular mstrument for s1ngle fibre measurement is

M Shirley comb sorter ‘ (B) * B.F.T sorter

- (C) . Reynolds and Branson tester © (D) W.ILR.A. crimp tester

"96. The dead weight suspended from the end of the bottom loop of the coupling to keep the
harness pulled down when not requlred to be raised is called a

M Lingo : o (B) Griffe
(C) Grate - (D) Jug board.

CETETAS . . .18 | S p



97.  In costing, prime cost is defihea as ' : '
. ‘ M 'Direct material cost + direct labour cost + direct expenses .
- (B) Direct mateﬁal cost + direct labour. cost o |
(C)  Direct material cost + direct expenses

(D) . Direct material cost — direct labour cost + direct exp‘ens‘es"

98. ' It deals with recording the time and rate of Worki'ng under specific conditions

" (A) Method study ' - B) Work samphng :
© Predetermined time standard ‘M Time study
|
:99. Advertisement cost, is an example for - — ‘overheads.
" (A) Factory o - o B) Admini'strativé
7 Selling and distribution . ® @and®)-
100. The technologlcal aspect in a textile 1ndustry is an example for ‘ — in TQM
-axioms. ‘ ' ' ‘ : :
A) .Commitment - = o ®) Involvement
W ‘Scientific knowledge - A A (D) Motivation

101. - Iﬁ deals with:behavioral i_séﬁ’es as well as-technical issues is an indﬁstry
(A) Ny supply'chain management |
4 v 'mafxagement information system
(©) busiﬁéss, pll'olces‘s:i'eehgirieering

D) qualify control circle .

102. The consumers may share a strong need that cannot be sat1sf1ed by an ex1st1ng product is -

called —————— demand.
(A)  Negative . ‘ ' : (B) Non ex1stent
W -Latent - ‘ o D). Dechne '
o S 9. " CETETNS
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108.

104.

. 105.

106.

- 107.

108,

109'.

The two important natural protein fibres are ’ —and
(A) . cotton and jute 4 (B) ' silk and cotton

M wool and silk : o Ke) wool and casein .
First order transition temperature of Nylon 6,6 fibre is’
(A)  40°C | : - ® 80C ‘
(©) - 230°C & 260°C
XRD pliotograph of a cotton fibre quld be‘having ‘ ,
(A)  sharp spots o (B). slightly diffused rings

’ W slightly diffused broken rings 4 (D) diffused
Convolution in cotton fibre is because of .
(A)  fibrils » - " (B) - primary wall
' w ' cell sap evaporation (D) fibre degradation

Fibre that is soluble in 80%‘ formic acid ' .
(A)  Acrylic ‘ " (B) Poly Ethylene Terephthalate (PET)

y .Nylon (D) Cotton. ' '
Fine structure model of viscose rayon fibre is AT .
(A) - fibrillar (B)  fringed fibrillar
(C) micellar : ' M fringed micellar
Jute fibre is cléssjﬁed as natural céllulosic : : fibre.

- (A)  bast unicellular . . W bast multicellular

© leaf unicellular ' V (D), leaf multicellular

CETET/18 . 20



110. The dehsity of asbestos is
(A)  lower than cotton
(B) . higher than polyester but lower than cotton
M ~ higher than cotton
_ (D) higher than cotton and gless

111. The wave lerlgth of the electrons used 1n electron microscopy is
A 10A R B) 5A -

(© 1A o M005A

112, In a fibre, the length of the ‘micro ﬁbrlls is .
N :
A 1lu. , . B 0.1 u

W 10i | o ®y 01A

113,“ The orientation factor of Ramie fibre is
@) 054 , - ® 088

© 014 . | S 0T

114. The proportmn of non crystallme regions of the nat1ve cellulose is
(A) one fourth of-the total i in native cellulose . .
M one third of the total in native cellulose
©) ‘half of the total in native’ cellulose o
‘(D) " three fourth of the total in natlve cellulose 1

115. -~ Among the following, which one of the fibre is completeljr crystalline?
(A) cotton A ) -~ (B) nylon
(C) glass A . \w . asbesﬁos

p . ' ‘ 4 21
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116. " Birefringence of a fibre in determined loy rneasuriug the ‘
(A) . refractive index along the fibre axis ‘ . K
W two principal refractive iudiees
© refractive in'dex across the fibre axis

(D)  refractive indices of x,y and z axis

117. "When a fibre was subJected to 10% elongatmn, it developed a load of 120 gram-force.
: : However the load decreased ‘with time through the.fibre was held in the extended position.
' The cause for such decrease in load is bécause of — and the properly is
regarded as '

R (A) - molecular strese and stress relaxation
M molecular readjustment and stress relaxatmn
" (C) molecular stress and.creep

D) molecular readjustment and creep

118. Static charge development. in textile fibres can be overcome by
(A). decreasing electrical conductivity (B) decreasmg hum1d1ty

(O, ‘ increasing disorder ‘ W 1ncreas1ng electrieal conduct1v1ty

119. The second order transition tenlperature of polyester is
A -b°C o ‘ B) - 50°C

N @ .100°C

120. The mo1sture absorbmg fibres cannot be heat set, because
. (A) the bond between the molecules are very strong -

(B) the cross links between the molecules cannot be broken -

W the cross links between the molecules are broken and reformed on the wetting and
drymg of fibres ‘

D) the melting point is very ‘high
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-121. When the flbre is tested in standard cond1t10ns the tenamty in g- Wt/tex of cotton flbre is
A hlgher than flax R
% lower than flax but hlgher than Jute
(C) lower than acetate.

(D)  higher than flax but lower than jute .

122. Which. one of the followmg statement in suitable for bast ﬁbres when compared with cotton
' fibre? ‘

poor recovery from strain and 1t can w1thstand large stress
(B) - .good recovery from stram and 1t can W1thstand small stress
A(C) © poor recovery fror_n strain and it can Wlthstand s_ma]l stress _ oL
D) .good r.ecov,e\ry'} from strain and it can Withstend large stress
/

123. After recovery by the first test to. measure creep, if the same load is applied again to a ﬁbre

the rate of creep is ¢

(A)  similar to the first test.
G less than the first test of the specimen -
-(C) " greater than the first test of the specimen

. (D) equal to secondary creep

)

124. The torsmnal rigidity of a ﬁbre can be obtained interms of
.(A) tensile modulus , ; D ‘shear modulus
'(C) " bending modulus L )} specific stréss

125. The neutral comonomer in acrylic polymer is .
M Methyl acrylate " . o ~(B) Sodium allyl sulphonate o
©) Sodlum methallyl sulphonate ' . (D) Itaconic acid

P , R ' CETET/S
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126. Whlch one of the following is mechamcal texturising process" ' ‘
(A) - False tw1st texturising o (BY Simultaneous draw texturising -

©) Sequentiona'I draw texturising M Air Jet texturising

127. ‘The process of drawmg of as- spun fllaments to 1mpart orientation is typically calrled out at

temperatures ,
\M above glass transition - ' (B) belqw Ty ‘
(C)  near melting point (Tmb D) " at crystalization temperature

'128. In the context of application at spm flnlsh to synthetm fibres, the incorrect statement among
the followmg is

(A) spin finish dissipates static charge
@) - spin finish reduces fibre breakage in earding'
\M _ spin finish reduces the stiffness of the fibre

(D). .spin finish reduces the nap generation tendancy in fibres

' 129.. Which one of the following increases on increasing water concentration (catalyst) during
nylon 6 polymerlsatlon‘?

\ (A molecular Welght . - (B)' time of polymerisation

W -end groups. . (D) rate of polymerisation

130. Incase of melt spinning, if W is the imass through put rate, p, L is the density of melt, d, is

. the spinnerette hole diameter n is the number of filaments, the average extrusmn velomty
(vy) is glven by expression '

. 4 4W ' o 4
IO o= ~ ® =l

S np dy . - nWr dy’
o 4d? : . dpyn
O vy =—2 D) v, = —F
( ) 0 nWﬂpo ( ) 0 Wﬂ'd Ty 72
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"131. For producing a coarse count: yarn from sh01t staple tlashy cotton sl1ver the most su1table
rotor 1s ‘

(A) large diameter rotor with narrow. groove
(B)  small diameter rotor with wide groove
(C) small diameter rotor with narrow groove

\@ - large diameter rotor with wide groove‘ :

132. 35 Kg raw cotton is mixed with 65 kg polyester in the blow room feed. If the raw cotton
contained 6.5% trash which was removed completely in the blow room and carding process,
the % blend proportion of cotton and polyester in the carding sliver is

A) 60%and30% .~ . - (B) 30%and60%
©) 67%and33% . M 33% and 67%

N

. 13‘3. In ring spinning,. the tension in yérn is the maximum
" In winding zone
B) Where the balloon radlus is the max1mum
(C)  Just below the lappet guide .
' (D) Between the lappet guidé and front roller

134. Thé draft in the roving frame is about S
@ 100. o
e 3. ‘ ‘D) 30

135. Ina 3 over 3 draftmg system the ratio of the nip to nip distance between middle rollers to
hack rollers and middle rollers to front rollers would be .

N ® <1

© 1 . @ 05

136. Rat1o of' mechamcal draft to theoretlcal draft would be )

R VRS ST o <1 R
© 1 . . (D o5
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137. How much noil% is increased when the de;ﬁﬁh of the top comb penetration is-
about 0.5 mm?

W 2% o ".(B)'4%

© &% . . D 10%

138. In a rectilinear comber when the mppers are open the length of lap feed by the feed roller is

between : and
(A)_ 4cm, 6.5cm . \Mﬁlmm 65mm
(©)  10mm, 125 mm - ~ - ©) 10cm, 1250m

. 139. Among the followmg Whlch one is more soft with respect to top rollers degree of shore

hardness? o
M 60100 o (B) 70°-80°
©) 70°~90° . IR (D) above 90°

© 140. ‘Which one of the followmg is the addltlonal effect of draft?

(A)  neps formation Mstralghtemng of ﬁbre hooks
(C) fibre entanglement - . . (D) fibre breakage

141. Ina yarn cross section, the number of fibres (n) are equal to

M TeXyarn/T eXfibre " . (B) TeXﬁbre/T €Xyarn
(C) TEXﬁbre X TeXyarn . ’ (D) (TeXyarn/T e~Xﬁ|m:e)2

142 The intirnate blending oan be obtained by ‘ _
(A) lap blending - . (B) webblending -
(C)  sliver blending : M fibre blending
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143, In ———— Jacquard, all the warp t]dreads reaches the bottom of the shed on eve‘ry

- pick. . '
w single liff, single cylinder A" . . (B)  double lift, single cylinder
- () . double lift, double cylinder . " (D) open shed '

144. * In case of automatic yarn eiearing machine, clearing efficiency (CE) is defined as

Number of faults detected in theya:rn ‘>< 100
‘Total number of faultsin the yarn -

A) CE-=
Number of objectionable faults detected in the yarn
Total number of faults in the yarn

‘ M CE = Number of objectionable faults detected in the yarn x'l 0 0
Total number of objectionable faultsin the yarn

x 100 -

(B) CE=

_ Number of faults detected in the yarn - N 100
~ Total number of objectionable faults in the yarn

)

145 In a tex system if the change 1n mass is 100%, what will be the approx1mate change in
diameter? .

@) 20% | B 30% .

M 0% . - S D 5%

146. The draft plan in woven fabric design analysis 1nd1cates
‘ (A) A Interlacement of warp and weft
(B) Order of drawing warp through reed
\M Number of heald shaft required for weavmg
(D) Number of weft per design repeat

~

147. Which of the following statenent is not correct with respect 'to crepe weave woven fabrics?
(A) . High twist yarrl isused ' | |
: \M They have pronﬁnent twill effect '
" (C) ) Fabrlc surface is not smooth
(D) _They formed. by 1nsert10n of one weave over other weave
p ; N S CETET/18
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148. Jute eacks in tubular form are produced from
NI narrow loom - ' (B) tape loom

(C)  spacer machine’ ‘ \M circular loom’

~ 149. In a twill fabric, the rate of achievement of -tWi.I.I upwerds is 2, rate of advancement of twill

outwards is 1, ends per cm is 42 and picks per cm is 21. Calculate the twill angle. |
@) 45° : ' ®) 11°

W e D) 60°

150. The weave that produces perforated fabrics and distorted thread effects is
(A) Huck-a-lack weave o B): Basket weave
() " Hopsack weave - : \M Mock leno weave

151. The mechanism which stops the loom when the shuttle fails to reach the shuttle box (or)
. shuttle tiap in the warp shed i is known as ,
~(A).  shuttle checking mechanism
" (B) -warp stop motion

.(Cj weft protector mechanism

M warp protector motlon

152. The power required to drive a loom‘ working on open shed principle is less, because
- (A)  heald weight is less |
(B) speed is maximum
(C) usedonly for s1mple weaves

. M unnecessary movement of the threads are av01ded
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153.

154.

155.

156.

157.

158.

Ratio of grab strength to strip 'strength is the highést when fabric extension (%) is

@ o SR ® 5 |
© 10 . - R &%
A 225 denier viscose yarn has a breakmg strength of 7. 5N The yarn tenacu;y in CN/dteX is
@ 1 T ® 10 |
W 3 | " ®) 30
Whlch of the followmg fabric is used for air bag apphcatlons at the driver side?
a;ék/ 4 25 x 25 twill weave polyester fabrlc
\M 46 x 46 plam weave Nylon 6, 6 fabrlc
(C) 25 x 25 rip stop Nylon 6, 6 fabric
’ (D) 41 x 41 plain weave polyester fabric
.The property of fibres that AFIS does rlot measure is ‘
(A) ~ Fibre length- - . _ (B) Fibre maturity =~ o
\M Short fibre index _ (D) Nep content '

The vibroscope method for determmatlon of fibre fineness does not; take into account of
'specimen

(A) Natural frequency ’ A \M Tensilé strength -
(C)  Tension - - _ (D). Length

Saniple selection for testing reqm:res
(A) Biased approach to meet populatlon mean
W ) Random approach to meet populatlon mean”
© Random approach to not to meet population mean

(D) Biased approach to not to meet population mean ‘

29 . " CETET/18
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159. . A group of cotton fibres were selected for -maturity-test and the results are 64% rod hke :
fibres, 14% dead fibres. Calculate the percent of thin'walled fibres. ‘

@  50% | - & 22%
(©C)  36% B ~ D). 14%

1}

160. In geﬁeral, the ﬂoéting fibre percentage in' the drafting systems is calculated from the

, data. = ' ‘
(A)  Shirley comb sorter : (B) Sledge sorter
(C)' Schlumberger comb sorter M Digital fibro graph |

16_1. In samphng process,, the relatlonshlp between standard error of the mean (SEM) and the
. standard deviation of the population (SDP) is

(A) SEM = SDP ‘ d SEM-:_S,_D_P
n ’ . - \/; . '
| . ‘ Jo
C)  SEM=—— D) SEM =2
© - SEM=gnp | o ®. SDP

162. ~ The zoning samplmg method is used to determine

| A) Prqper’aes of sliver ' ’M Properties of fibre
(C)  Properties of yarn ' (D) Propertws of fabric
- 163. .- Levoglucosan is related to . - finish.
(A) Antistatic . - (B) Crease resistant
\M Fire retardant o (D) Soil release

‘164. Reactive prihting of cotton uses ‘ A
& Naco, (B) NaClO
(C) NaClo, 5 (D) NaClo,

. CETET/18 o 80 ‘ o | 0



—

,165. A Accordlng to K-M ‘theory, the concentratlon of dye in fabrlc is dnectly proportlonal to'.

[R-Reflectance from sample] .

@ R .. »’\Hbf(léR)Z/ZR

1 : ’ 2R
© - = . L O '
) "R R . . ) (1 - R)z
166. Nylon/W ool blends are often dyed with
\{/ Mllhng type amd dye - ’
o B) B1funct10ne1 reactive dye
©) Hetero functional reactive dye ‘
(D) Homo functionel reactive dye ’
167. ' is used as reducmg agent in vat dyeing.
M Sodlum hydrosulph1te A ‘ (B) Sodlum hypochlorlte

(C) Sodlum chlorlte : o (D). Sodium bromite

- 168. Which one of the foﬂdwing is not true about acid dyes?
A) - Acid dyes are sodium salts of organic'a‘cid'
| B) A01d dyes. have aff1n1ty to proteln f1bres
©). Glauber saltf is used as levelhng agent durlng acid dyeing
\M " Acid dyes are relatlvely difficult to dlssolve in water

'. 169.: , . 3 - 18 the measure of strength of bonds by which dye is held to the fibre

w Heat of dyeing = 4 | - (B) Entropy of dyemg
(C) Half dyeing time . ' (D) Chem1cal potentm_l ,
o L B I . CETET/18
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170. The most commonly uéed discharging agent is
' M formaldehyde sulphoxalates
(B) : 4sodi'un} dichromate
©) A pottasium dichromate

D) glycerine

171. Which one of the following transfer printiﬁg is more preferred f(_)i' garment panel units?
| (A)  sublimation transfer |
(B) meit transfer _ B . '
W film release _ , : -

D) wet fransfer

172. Wilich of the following statement is true for a rib knitting machine that works under delayed '
timing? : N
(A) Cyhnder needle first comes to the feeding position
\M Both cylinder and dial needle 51mu1taneously reaches the feeding pos1t10n :

(C) Dial needle first reaches the knock-over position

(D)‘ Both dial and cylinder needle 51mu1taneously reaches the knock over position

- 173. The kmt fabric with tuck stitches is ' - ‘ then the kﬁit fabric with knit
stltches only. . ‘ -
A " Thinner - : \d Wider
(C)‘ Less porous . 4 - (D) . Highly extensible

~

174. Knitting needles with different butt sizes are used in circular knitting machine havmg
(A) Swing cam - ' (B) Multi cam
M Split cam o - (D) . Pattern drum.
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175. .Tile width of the long groove in the sewing nee.dle is — - of blade diameter.
A 15% | ' ” .(B)  30%
& 5% . - (D) 60%

176. In single needle lock stitch machine, the preferred feed-dog tooth pitch for sewing. medium
weight fabricis - T 4 ‘
(A) ' 1mm - ‘ : Mlﬁmm

(€ 2mm o (D) 2.5mm

177, In.doubl'el needle lock stitch machine, the feed dog has ‘ . ‘m,ot;ion.
(A Circular | S '
G Bliptical
(C) Lateral
D) Up and down

\

\ 178. Majority of Sewing machine brefers ‘Z’ twist yarns than ‘S’ twist yai'ns because
" (A) they have high strength ' ’

(B)  they are highly ﬂexible

(C) they have high elongation
M they dor’t loose twist

179.. One of the limitation of polyester wrapped.‘cotton core Spun thfead is
(A) poor elastigﬁty - ' |

(B)  high cost .

© léw work of rqpturé :

W high needle 'heati generation

0 ) S T . CETET/18
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~ 180. Re.quirements of -techhi‘cal fabrics for soil mat. alr.e a -
A - Weéther- resistance, opaque to eunlight and insects entry restriction
-(B) weather resistance, water impermeability end retention properties
A M water penetration and retention properties de durability

(D) weather resistance, sunlight transparency, water impermeability -

181. Widely used fibres in geotextile applications are,
. A Polyprepylene and Polybutylene
®B) - Polyel;hylene and Polybutylene
iw Polyprepylene and‘ Polyethylene
4 D) Polyethylene and Polyvinyl alcohol

182. Cpyclic loading perfomlance of a technical fibre depends on
(A) Elasticity - -
(® Elasticity at break
© 'Elasticity at low extension . ‘ :

W Elasticity even at high extension .

183. Tensile strength of Ultra H1gh Molecular We1ght Polyethylene (UHMWPE) in gram per
‘ -denier is apprommately

@) 055 . : . ®) 55

W' 55 . . (D) 555

‘ 18{1.' Enduse property that is preferred from nonwovens. _
'\M Absorbency - (B) Thermal conduct1v1ty
(C) Strength ‘ : ‘ (D) Density '
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185, In calenderlng process, if the- contact area is 30 rnrn2 and the productlon speed is 300 m/mm‘
The estlmated contact line is ' '

(A) 0.6 mllhsec N ®) o. 06 mllhsec
(C)  0.006 millisec ‘ ) . M 6 mllllsec

~ .

‘ 186.. For the given f1bres heav1ly entangled fabr1cs can be produced by hydro entanglement at
‘ 10W pressure and energy for :
Viscose - , R } (B) glass '

‘ (€)  carbon . . . (D) polypropylene

~

187. In case of needle punching, the punch density is calculated using

[Pa — punch dens1ty, n,= number of needles per cm, P fabr1c production speed, S ; =punch

frequency] . '
. : . . P o
o b -hi | ® P=2X
) oo . L 'Sf
n - ' S . Pxs
- (C Pj=——2—. D - - D) P;= £
© megg . ©) Py==

- 188. Whlch one of the following statements is ‘Incorrect about fibre dlspersmg behavior i in wet
, lay system" : 4 ' ’
(&) ~ The dispersing property of fibres deteriorate W1th an increase in the ﬁbre ﬁneness
ratio : '

(B)  The dispersing property deteriorate with decrease in fibre stiffness
(C)  Fibres which are non crimped form homogenous suspension'

M . Wettability of fibres in liquid medium does not influence dispersion

189. The type of reinforcement in which a tensile force is applied to the geotextile that is.
surrounded by soil on both sides is ‘ , - . «

M anchorage reinforcementf ‘ ' ® membrane reinforcement
' (C) shear reinforcement - " (D) normal reinforcement’
o [+ o ~ CETET/18
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190.

- 191

192.

193.

194

TSS is an effluent mean(si

(A)  Total soluble solids \af Total suspended solids -

. (C)  Total sinking solids : (D) Total soap solids

. Which one of the following is a secondary treatment process?
&) - Equalisation , . (B) Neutralisation
© -_Chemiéal coagulation o W Trickling filter

rI"he Biolbgical oxygen demand in a textile processing industry is greatly reduced at
(A) primary treatment ‘ ’ |

W secondary treatment

(C) teritar); treatment

(D) preliminary screening

The colour and ‘oxygen demand in an effluent can be reduced using
w ‘Bleaching efﬂlilent s ‘(B) Scouring effluent
(C)  Desizing effluent (D) . Printing effluent

An efﬂuént which is charactérized by high émount of h‘ydrolys-ed dyes and dissolved salts is
(A) disperse dyeing effluent \ )
A(B) | milling' acid ‘dyei.ng effluent
(C) levelling acid dyeing efﬂuent
M reactive dyeiﬁg efﬂuént
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195

196. -

197.

198.

199.

£ 200..

‘M Area of marker used for garments

© 7 - h @) 288

Marker Efficiency % is calculated as

Areg of total marker

E o8 %100 . -

Area of marker used for garments

B) - Areaof total marker — area of marker used for garments

x 100
Area of total marker o

- (D) . Area of total marker + Area of marker used for- garments

The total heat release rate ( kw minm 2) wﬂl be minimum for fabric made of

(A) - Wool - “ L ®) Cotton/polyester
(© Modacrylic - . ' Meta aramid

The steps 1nvolved in method study procedure is |

A - Select examme —record develop install - mamtam

@f Select record —~ examme — develop —1nsta11 maintain

- (C) - " Examine — select record develop, —mstall maintain

(D) -Record = select — examine — develop — install - maintain

L)

As per SITRA norms, the raw matemal cost in % 1s requlred for 100’s combed yarnin .

\M465‘ S . (@B 58

© 63 R () 66.5

Ina modern mill, the amount of energy consumed by a flrst passage draw frame for 40 Ne ;

“production is ———— : kwh for 8 machine running hours

W s .. (B 50

As per SITRA porms, in a .modern mﬂl standard load requlred for lighting systems i8

— per 1000 spmdles

@ - 10KW | \@flKW

© BEW . e )8 OSKW
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